A6 7H1HBE (o Ad : HRADA)

KM 4 g [ |5 (A) | R [ & (B) | HE# | EF(A+B)
T 2, 482 7 2,757 7 2,811 10 5, 568
T —TH 975 -6 891 -2 786 -6 1,677
PR — T H 575 0 539 0 560 -5 1, 099
e =T H 640 -1 688 -7 647 -3 1,335
JHPTETIUT H 479 -1 493 -3 510 1 1,003
4R T H 333 3 355 1 320 1 675
JHPTHT ST H 299 -3 361 -3 383 -3 744
Lo HT 205 0 202 0 209 1 411 1
Ba 382 0 445 0 456 0 901 0
T H 1,908 -5 1,973 -1 2,012 4 3, 985 -5
PIHTHT 332 1 331 1 322 0 653 1
o8 920 1 983 4 948 2 1,931 6
HT—TH 280 4 344 2 395 3 739 5
T — T H 330 2 417 1 430 3 847 4
HHT =T H 481 -5 655 -3 627 —/ 1,282 -7
BT B 297 1 393 1 389 2 782 3
A 232 1 255 0 247 1 502 1
] = 290 0 349 0 327 -1 676 -1
— YK 444 -1 450 -2 460 -2 910 4
=Y RHHET— T H 0 0 0 0 0 0 0 0
=Y AHIT T H 32 0 42 0 43 0 85 0
GIEL 108 0 121 0 118 0 239 0
— Y KHH 5 0 5 0 5 0 10
KH - 43 681 -1 851 -2 853 -5 1,704
k4> 4, 545 4 4,795 -3 4, 983 -6 9,778
IR 4, 644 -16 4,451 —7 4,515 -10 8, 966
E A 1, 394 -2 1,488 -5 1,521 4 3, 009
i) 5 0 7 0 6 0 13
EtR—TH 906 1 751 -2 913 -2 1, 664
=LA _TH 1,108 10 1, 057 0 1,125 7 2, 182
EtR-TH 840 0 762 0 826 2 1, 588
& LRI TH 704 3 635 0 708 0 1,393
Z+tRATH 713 -2 745 -2 664 -1 1, 409
& LR TH 0 0 0 0 0 0 0
e T 1,875 -2 1,878 -1 1,782 -4 3, 660
¥y —T1H 282 -1 286 3 292 0 578
¥y T H 237 2 246 0 245 2 491
sy o ="TH 434 -1 433 0 447 -1 880
¥y DU T H 673 5 650 4 703 4 1,353
nr T H 419 1 476 4 490 -1 966
mEiT—TH 257 0 300 0 330 -2 630
FEET T H 581 2 566 0 612 -2 1,178
PRI =T H 194 2 183 1 237 5 420
Z) 32,521 3 33, 659 -14 34, 257 -24 67,916
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